SSVW

&=

Q(FE{T)M6x1P

4-JxKojM g2 B _F c A AA| Ho| AZE
-
1

SMIUDSTIVE

H
=
A
& <]
- H U
~
S Erelmm
x AR = 2 84 5tE =237
x 27| %ol (kgf) B
o %E! E: EXME | HMHA 9' = _;;_ ME = 9%2 QIE% ¢
2 ag | FoEBAEEA = ojMgal & x| mo| 2% uesw
A .D. o % s
3 = 2 |REWCa| Co | L W H| A B C JxK |E F| G U tgr: ==
= 4 2381 35x1 500 1110 35 34 13 22 26 65 M4x7 6 2 6 18 15 SSVW1404-3.5P
5 3.175 25x1 515 990 35 34 13 22 26 65 M4x7 6 2 6 18 11 SSVW1405-2.5P
5 3.175 25x1 590 1210 35 42 16 22 32 65 M5x8 6 2 8 21 13 SSVWI1605-2.5P
N 5 317525x1 625 1450 35 48 17 22 35 65 M6x10 6 3 91522 15 SSVW2005-2.5P
10 4762 2.5x1 1100 2220 58 48 18 35 35 11.5M6x10 10 2 95 25 16 SSVW2010-2.5P
5 3.175 25x1 720 1830 35 60 20 22 40 65 M8x12 7 5 9.5 25 18 SSVW2505-2.5P
10 6.350 2.5x2 3240 7170 94 60 23 60 40 17 M8x12 10 - 10 30 40 SSVW2510-5.0P
BIN 6 3175 25x2 1380 4140 67 60 22 40 40 13.5M8x12 8 5 10 27 39 SSVW2806-5.0P
25x1 2010 4700 64 45 95 25 SSVW3210-2.5P
10 6.350 70 26 50 _ M8x12 10 - 12 36
25%x2 3640 9410 94 60 > 17 49 SSVW3210-5.0P
Bl D
HE 2y
2| Bt 20| Z-X|=30%sHE 2 FIISIY2M =10t = 7H0]| Ylste Er2id™ /2|2 Qg 2ojX|=
b4 Xe]

A256



